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WALMLEY

JUNIOR SCHOOL

100 Platinum
Club Challenge

School Assessment (1)

(All times tables, divison facts and key number skills)

11x11x10= 300+ 6=
42 -32= 0.25x8 =
100% = % x 520 =
4000 + 8 = 120x 12 =
50x12 = 3600+ 6 =
V100 + 64 = V121 =
4200 +7 = 25x20=
10x0.06 = 63 =
V64 = 2x0.8=
6 x900 = 6 x 900 =
525+5= 62-52=
V16 = 5x120=
0.7x0.6 = 82+ 42 =
% x 1000 = 125+5=
11x70= 132=
0.5x6= 0.66 + 6=
50x50= V81 +62 =
% x 100 = 900x3=
0.6x5= 62x2=
6 x1200 = 70x70 =
6% +1%= 7x4x2=
V100 - V25 = 82+22=
2% = 100 x 0.08 =
3300 +3 = 6x5x4=
900x3 = 640 + 8 =
V144 = 122x2 =
2.8x4= 600 x 8 =
5%= V225 =
9x0.9= 5x110=
V25 = 7x0.01=
% x9= 12 =
90 x90 = 90x9=
V4 +V9 = 0.6x8=
80x8=
Time

W
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20% =

5+100=

V36 =

600x 8 =

8.8+8=

12x0.8=

24 4=

152 =

1000 + 100 =

52+5%=

5400 +6 =

110x6 =

1600 + 40 =

V121 +12 =

4900+ 7 =

40x 40 =

3?+42+5%=

152 =

0.8x5=

810+9=

8x4x2=

8x60=

0.5x0.5=

V400 =

5600+ 7=

600 x 8 =

10x % =

80x30=

43 =

11 x 800 =

V81 =

4200+ 7 =

600 +12 =

Score

/ 100




Left-handed School Assessment (1)

\"7/ 100 Platinum W
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(All times tables, divison facts and key number skills)

11x11x10= 300+ 6= 202 =
4% -32= 0.25x 8= 5+100=
100% = % x520 = V36 =
4000 -8 = 120x12 = 600 x 8 =
50x12= 3600+ 6= 8.8+8=
V100 + 64 = V121 = 12x0.8=
4200+7 = 25x20 = 244 =
10 x0.06 = 62 = 152 =
V64 = 2x0.8= 1000 + 100 =
6 x900 = 6 x900 = 52 +52=
525+5= 62-52= 5400+ 6 =
V16 = 5x120 = 110x6 =
0.7x0.6 = 82+4%2= 1600 + 40 =
% x 1000 = 125+5+= V121 +12 =
11x70= 132= 4900 =7 =
0.5x6= 0.66+6= 40 x40 =
50x 50 = V81 +62 = 32+4%2+5%2=
% x 100 = 900x 3= 152% =
0.6x5= 62x2= 0.8x5=
6 x 1200 = 70x70 = 810+9 =
62+1%= 7x4x2= 8x4x2=
V100 -V25 = 82+22= 8x60=
23 = 100 x 0.08 = 0.5x0.5=
3300+3 = 6x5x4= V400 =
900x 3= 640+ 8= 5600+ 7 =
V144 = 122x2 = 600 x 8 =
2.8x4= 600 x 8 = 10x % =
53 = V225 = 80x30=
9x0.9= 5x110 = 43 =
V25 = 7x0.01= 11 x 800 =
% x9= 12= V81l =
90 x90 = 90x9= 4200=+7 =
V4 +V9 = 0.6x8= 600+ 12 =
80x8=
Time Score / 100




